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1.  Rapidfire Inc. has assets with a current market value of $600,000 and has outstanding bonds that mature five years from today for $750,000.  Rapidfire is considering investing in a project that would cost $100,000.  The project, which has an expected life of 10 years, has a net present value of -$10,000 and would increase the variance of returns on the firm’s assets to 43.5%.  Since only $40,000 of cash is available to fund the project, $60,000 of the cost would have to be covered by issuing new shares of common stock.  The return on Treasury zero-coupon bonds are as follows:  1-year = 5.52%, 5-year = 5.60%, 10-year = 5.72%, 20-year = 5.67%.  All rates are annual rates assuming continuous compounding.  The current value of Rapidfire stock is $217,500.  Show whether or not stockholders will be in favor of undertaking the project?  Explain the intuition behind your answer.





2. Use the following information and the attached information from Hershey Foods Inc’s 10-k to calculate the capital for use in calculating Hershey’s 1997 EVA.  Note that both the financial statements and the information given below are in thousands.


1) Intangible assets resulting from business acquisitions principally consist of the excess of the acquisition cost over the fair value of the net assets of businesses acquired (goodwill).  Accumulated amortization of intangible assets resulting from business acquisitions was $116,500 and $100,000 as of December 31, 1997 and 1996, respectively.


2)  Research and development costs were as follow:  97=27,500; 96=26,100; 95=26,200; 94=25,800; 93=24,600; 92=22,400; 91=23,500.  These  costs are included in selling, marketing, and administrative expenses.


3) The Corporation values the majority of its inventories under the last-in, first-out (LIFO) method and the remaining inventories at the lower of first-in, first-out (FIFO) cost or market.  The adjustment to convert from LIFO to FIFO was $88,831 in 1997 and $77,611 in 1996.


4)  Cash taxes paid were $181,377 in 1997 and $180,347 in 1996.


5)  For 1997, net interest expense consisted of an interest expense of $79,138 and interest income of $2,883.  For 1996, net interest expense consisted of an interest expense of $52,036 and interest income of $3,993.





3.  Quick Stuff established an EVA bonus system in 1996.  The target EVA for 1996 was -$350 million and the EVA leverage factor was $200 million.  All targets after 1996 would be determined using Harnischfeger’s self adjusting target approach.  Due to a number of restructuring moves, EVA was actually -$250 million in 1996, and rose to -$100 million in 1997.  The target EVA bonus for Quick’s CEO was $500,000.  Quick uses a bonus bank in which 25% of the bank’s balance at the beginning of the year is paid out.  In addition, 60% of the current year’s bonus is paid out while 40% is deposited into the bonus bank.  When Quick established the EVA bonus system, Quick’s CEO was given a beginning bank balance of $1,600,000.  What was the total EVA payment to Quick’s CEO in 1997?





4.  You are considering purchasing a bond that is currently in default.  This bond matures for $1000 six years and 1 month from today and pays an annual coupon of $75 with semiannual payments.  The company has stated that they won’t be making the next 2 coupon payments, but that they will resume regular coupon payments after that.  If, based on the risk of the bond, you require a return of 14% per year, what is the most you should pay for this bond.





5.  Your estimate that the return on Speedy Inc. will depend on the economy as follows.





		Probability	Speedy	S&P500


Boom	.25	40%	35%


Average	.40	19%	12%


Bust	.35	-10%	-3%


Assume the return on T-bills is 4.8%.





a.  What is Speedy’s beta?


b.  What is Speedy’s required return?


c.  What must happen to Speedy stock for it to be in equilibrium?�



                          HERSHEY FOODS CORPORATION





                          CONSOLIDATED BALANCE SHEETS





DECEMBER 31,                                               1997        1996


- -------------------------------------------------------------------------------


IN THOUSANDS OF DOLLARS


ASSETS


CURRENT ASSETS:


  Cash and cash equivalents                             $   54,237  $   61,422


  Accounts receivable--trade                               360,831     294,606


  Inventories                                              505,525     474,978


  Deferred income taxes                                     84,024      94,464


  Prepaid expenses and other                                30,197      60,759


                                                        ----------  ----------


    Total current assets                                 1,034,814     986,229


PROPERTY, PLANT AND EQUIPMENT, NET                       1,648,237   1,601,895


INTANGIBLES RESULTING FROM BUSINESS ACQUISITIONS           551,849     565,962


OTHER ASSETS                                                56,336      30,710


                                                        ----------  ----------


  Total assets                                          $3,291,236  $3,184,796


                                                        ==========  ==========


�
LIABILITIES AND STOCKHOLDERS' EQUITY


CURRENT LIABILITIES:


  Accounts payable                                      $  146,932  $  134,213


  Accrued liabilities                                      371,545     357,828


  Accrued income taxes                                      19,692      10,254


  Short-term debt                                          232,451     299,469


  Current portion of long-term debt                         25,095      15,510


                                                        ----------  ----------


    Total current liabilities                              795,715     817,274


LONG-TERM DEBT                                           1,029,136     655,289


OTHER LONG-TERM LIABILITIES                                346,500     327,209


DEFERRED INCOME TAXES                                      267,079     224,003


                                                        ----------  ----------


    Total liabilities                                    2,438,430   2,023,775


                                                        ----------  ----------


STOCKHOLDERS' EQUITY:


  Preferred Stock, shares issued: none in 1997 and 1996        --          --


  Common Stock, shares issued: 149,484,964 in 1997 and


   149,471,964 in 1996                                     149,485     149,472


  Class B Common Stock, shares issued: 30,465,908 in


   1997 and 30,478,908 in 1996                              30,465      30,478


  Additional paid-in capital                                33,852      42,432


  Cumulative foreign currency translation adjustments      (42,243)    (32,875)


  Unearned ESOP compensation                               (28,741)    (31,935)


  Retained earnings                                      1,977,849   1,763,144


  Treasury--Common Stock shares, at cost: 37,018,566 in


   1997 and 27,009,316 in 1996                          (1,267,861)   (759,695)


                                                        ----------  ----------


    Total stockholders' equity                             852,806   1,161,021


                                                        ----------  ----------


    Total liabilities and stockholders' equity          $3,291,236  $3,184,796


                                                        ==========  ==========





�
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Solutions:





1. s2 = .435


V0 = 600,000+(100,000-40,000)-10,000=650,000


�EMBED Equation.3���


�EMBED Equation.3���


N(d1) = .79673; N(d2) = .26109


�EMBED Equation.3���


Change in stockholder wealth = 369,878.816 – (60,000 + 217,500) = 92,378.82 => in favor of the project.





Intuition:  Stockholders gain at the expense of the bondholders [2] due to the increased risk [2] since the upside benefits primarily stockholders [2] but the downside hurts primarily bondholders [2].  However bondholders gain at the expense of stockholders [2] from the additional investment by stockholders [2] since this investment provides a cushion for bondholders [2].  In addition, the negative NPV hurts both stockholders [2] and bondholders [2].   Stockholders are in favor of the project because the benefits outweigh the negatives [4].





Points:  Calculation => Equations:  d1, S0 [+10 each], d2, change in wealth [+5 each]; Variables:  650,000, .056, 5 [+6 each]; .435 [+4], 750,000 [+2], N() [+2 each], in favor [+2]


Intuition [worth 20 max]:   checks=points => 14=20, 12=19, 10=18, 8=16, 6=14, 4=12, 2=10





2.   	Operating cash 	61,422


	+ Receivables 	294,606	


	+ Inventory 	552,589	=474,978 + 77,611


	+ Other current assets 	60,759	


	+ Plant & Equipment 	1,601,895	


	+ Intangible Assets 	665,962	=565,962 + 100,000	


	+ Capitalized R&D	76,860	= 26,100 + .8(26,200) + .6(25,800) + .4(24,600) + .2(22,400)


	+ Other Assets	30,710


	- Current Liabilities 	-502,295	 =134,213 + 357,828 + 10,254


	Capital	2,842,508





Points:  Inventory, Intangible assets, Current liabilities [+12 each]; Capitalized R&D [+14]; all other items [+6 each]





3.  �EMBED Equation.3���


�EMBED Equation.3���


�EMBED Equation.3���


�EMBED Equation.3���


�EMBED Equation.3���





Points:  Equations [+10 each (AEVAB +5 for each year); Variables [+4 each (most appear twice and get +2 for each occurance)]
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4.  �EMBED Equation.3���


Annuity:


�EMBED Equation.3���


�EMBED Equation.3���


Par Value:


�EMBED Equation.3���


Total = 263.51 + 450.64 = 714.15





Points:  Equations => r(1/2), V7 mo [+10 each], V0 [+8 each]; Variables => ½, 11, 7/12, 6 1/12 [+8 each], .14, 37.5, 1000 [+4 each]





5.  	�EMBED Equation.3���


�EMBED Equation.3���


�EMBED Equation.3���


�EMBED Equation.3���


�EMBED Equation.3���


b.  r = 4.8 + 1.307(12.5 - 4.8) = 14.864%


c.  Price must fall so that E(r) increases to 14.864%, or Price must fall so that E(r) increases to point where RTRs are the same for Speedy and the market.





Points:  Equations => E(r) [+4 each], all others [+6 each]; variables => prob. [+3 in each equation], returns on Speedy [+6 in each equation], return on market [+4 in each equation], risk-free rate [+4]; c. [+8]


